WESTERN PRODUCTS 7777 N. 73RD STREET, P.O. BOX 23045, MILWAUKEE, WI 53223-0045

FORM NO. 13684
May 1, 1999

WISTERN

“ -m SSSSS Mt
nl nun ®

RUBBER DEFLECTOR KIT
INSTALLATION INSTRUCTIONS

Box No. 62123, 62124, 62220, 62530

A CAUTION

See your WESTERN® outlet for application
recommendations. The Selection List has
specific vehicle and snowplow requirements.

w A DIVISION OF DOUGLAS DYNAMICS, L.L.C.







RUBBER DEFLECTOR KIT INSTALLATION

INSTALLATION INSTRUCTIONS NOTE: To touch up paint around the holes
. ) _ drilled in blade curl and blade angle, use
1. Drilla17/32 (531) hole in each end of upper WESTERN® red paint part number 59515 (not
blade angle. (See Figure 1.) included).

5. Except end holes, loosely attach deflector and
retainer bars to blade curl with 5/16” x 1-1/4” bolts
and locknuts.

6. Thread a 7/16" nut all the way onto each curl
brace. Insert threaded end of curl braces into
holes drilled into top angle of blade.

7. Position curl brace to bottom of blade curl. (See
Figure 3.) Attach curl brace to each end hole of

Figure 1 blade with a 5/16" x 1-3/4" bolt, flat washer, and
Location of Curl Brace Holes in Top Angle of Blade locknut. Install flat washer to curl brace.
_ Retainer Bar Snow Deflector

2. Center deflector lengthwise on top of blade curl. If c \‘m‘

deflector is longer than the blade, cut off excess url Brace

material from each end. If retainer bars are longer

than blade, cut off the amounts from ends of two

retainer bars as shown in Figure 2.

Flat Washer

3. Center deflector lengthwise against blade curl.

Align retainer bars, equally spaced, to the back

edge of the blade curl. Align holes in bars with the Figure 3

holes in the deflector. Clamp in place.
4. Use three holes in each retainer bar as a guideto g Tighten all 5/16" bolts. Run nuts on curl braces

drill 5/16” holes through deflector and blade. down against upper blade angle. Secure each curl

brace with a second nut under blade angle.
Resizing 7-1/2’ Retainer Bars
6.0 |~—6-1/2' BLADE — 6.0
130 7 BLADE 3.0E
] o [o =]
Resizing 8’, 9’, and 10’ Retainer Bars
8' BLADE 12.00
E 9. ooﬁ/z BLADE Hg.oo E
6.00 9' BLADE 6.00
] ] Telele o]
Figure 2

Form No. 13684 2 May 1,1999



WESTERN PRODUCTS

i| 7777 N. 73RD STREET
P.O. BOX 23045

MILWAUKEE, WI 53223-0045

Od ADIVISION OF DOUGLAS DYNAMICS, L.L.C.

Western Products reserves the right under its Product Improvement Policy to change construction or design details and furnish equipment
when so altered without reference to illustrations or specifications used herein. Western Products and the vehicle manufacturer may require
and/or recommend optional equipment for snow removal. Western Products offers a limited warranty on the snowplows and accessories.

See separately printed page for this important information. The following are registered® and unregistered™ trademarks of Douglas Dynamics,
L.L.C.: UNIMOUNT®, and WESTERN®.

Form No. 13684 Printed in USA May 1, 1999



